The Lonely 8 Puzzle

Find each unknown digit:


         xx8xx



xxx ) xxxxxxxx


     – xxx



   xxxx



  – xxx



     xxxx



   – xxxx
Solution:

The 2nd & 4th digits in the quotient are clearly 0.

8 ( divisor < 1000

( divisor < 1000 ( 8 = 125.

( divisor ( 124.

The last digit of the quotient ( divisor ( 1000.

( last digit of quotient = 9.

The first subtraction in the division is xxxx – xxx = xx

( xxx = xxxx – xx ( 1000 – 99 = 901

But 7 ( 124 is only = 868.

( 1st digit of quotient = 8.

( quotient = 80809.

80809 ( divisor ( 10,000,000

( divisor ( 10,000,000 ( 80809 > 123.7

( divisor = 124.

The solution is:


         80809



124 ) 10020316


     – 992



   1003



  – 992



     1116



   – 1116
Ref: Charles W Trigg. Mathematical Quickies.

